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. Which of the following are true?

a) 7+14=14+7
b) 14-4=4-14
Cc) 4+13=13+4
d) 13x7=7x13

(i) {a,d} (i) {b,a} (i) {c,d} (iv) {b,c,a} (v) {b,d,a}

. Find the number at the point labelled with letter H

0 11

(i) 1 (i) 7 (ii) 3 (iv) 5 (v) 4

. What is the succeeding number of 1557

(i) 156 (ii) 155 (iii) 158 (iv) 157 (v) 153

. Find the equation representing the following number line diagram

[

ST I T PR T N T N T A F A B b
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

(i) 9—4=5 (ii) 6+4=10 (iii)) 7—7=0 (iv) 8+6=14 (v) 7—-4=3

. What is the preceeding number of 1017
(i) 98 (ii) 99 (iii) 102 (iv) 100 (v) 101

. Find the difference of the two numbers at the points labelled with letters D and E
D E

0 14

(i) (-2) (i) (-4) (i) (-1) (iv) 2 (v) O

. What is the preceeding number of 42,76,8097?
(i) 42,76,807 (ii) 42,76,811 (iii) 42,76,809 (iv) 42,76,808 (v) 42,76,806

. What is the succeeding number of 1767

(i) 176 (i) 179 (iii) 178 (iv) 177 (v) 174

. What is the succeeding number of 578,4787
(i) 578,477 (ii) 578,482 (iii) 578,480 (iv) 578,479 (v) 578,478
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11.

12.

13.

14.

15.

16.

17.

18.

What is the preceeding number of 3,123,9007?

(i) 3,123,898 (ii) 3,123,899 (iii) 3,123

,896 (iv) 3,123,900

(v) 3,123,901

Find the sum of the two numbers at the points labelled with letters V and W

0

(i) 6 (ii)

8 (iii) 11

(iv)

10 (v) 9

Find the product of the two numbers at the points labelled with letters P and Q

0

(i) 31

i)

33 (iii) 35

(iv) 32 (v) 30

Find the equation representing the following number line diagram

-~

(i) 15-10=5

(i) 16+9=25

Which of the following are true?

a

C

(iii)

I I I I T

8 9 10 11 1z 13 14 15

15-7=8 (iv) 14+7=21

whole numbers are closed under subtraction

)

b) whole numbers are closed under division
) whole numbers are closed under addition
)

d) whole numbers are closed under multiplication

(i) {a,c} (i)

{a,d,c}

(iii)

{a,b,c} (iv)

What is the preceeding number of 1697

(i) 170

(ii)

168

(iii)

167

(iv)

166 (v)

{c.d} (v) {b,d}

169

What is the preceeding number of 36572507
(i) 3657250 (ii)

3657249

(iii) 3657247

What is the succeeding number of 3577

(i) 359

(if)

357

(iii)

355

(iv)

358 (v)

What is the preceeding number of 1547

(i) 152

(if)

153

(iii)

150

(iv)

156 (v)

(iv) 3657252 (v)

360

154

(v) 17-7=10

3657248



19.

20.

21.

22.

23.

24.

25.

Which of the following are true?

a
b
C
d

) 5—(9%14)=(5-9)%(5-14)

) 14X (11+45)=(14x11)+(14x5)
) 11%X(5-9)=(11%x5)—(11%9)

) 9+(14+11)=(9+14)+(9+11)

(i) {a,c,b} (ii) {d,c} (i) {a,d,b} (iv) {b,c} (v) {a,b}

Find 99 x (65 + 30)
(i) 9406 (ii) 9402 (iii) 9405 (iv) 9404 (v) 9408

Find the letter of the label representing the position of number 10

b K P R |
1 I [N A [V B N > A O A A - G

0 14

(i) R (i) D (iii) K (iv) P (v) |

Which of the following are true?

a) 13x(11x10)=(13x11)x10
b) 11+(10+19)=(11+10)+19
c) 10-(19-13)=(10-19)-13
d) 19+(13+11)=(19+13)=+11

(i) {a,b} (ii) {c,b,a} (i) {d,b} (iv) {c,a} (v) {cd,a}

What is the succeeding number of 2895077
(i) 289508 (ii) 289511 (iii) 289506 (iv) 289507 (v) 289509

What is the succeeding number of 5,98,824?
(i) 5,98,826 (ii) 5,98,823 (iii) 5,98,825 (iv) 5,98,824 (v) 5,98,827

Find the difference between the values of numbers at point A and B

B A
I I I I I I I I T 1T T 1 I I I B

6 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

(i) 3 (ii) 2 (i) 1 (iv) 0 (v) 5



Assignment Key

1) (i) 2) (v) 3) (i) 4) (v) 5) (iv) 6) (iii)
7) (iv) 8) (iv) 9) (iv) 10) (ii) 11) (v) 12) (iv)
13) (iii) 14) (iv) 15) (ii) 16) (ii) 17) (iv) 18) (ii)
19) (iv) 20) (iii) 21) (i) 22) (i) 23) (i) 24) (iii)
25) (i)
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